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Question Number : 1 Question Id : 8321473701 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Basically Mulberry 1s a

(@geldore ‘ﬁ}ﬂ;é e85

Options :
Tree
20
1.¢ =
Grass
BE
2.8  ©
Herb
7 ¥
- LAPINE).
Shrub
4, ® e

Question Number : 2 Question Id : 8321473702 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Mulberry inflorescence 1s called
oend DRYDTYIPR) D0ETEd?

Options :

1. %



Racemose

0318 @-aﬂ‘j&m%

Hypanthodium

Eﬁﬁvoé‘sécﬁao
2. %
Spike
508
3. %
Catkin
sve.%g_f%
4,

Question Number : 3 Question Id : 8321473703 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s the Ideal pH for mulberry cultivation?

Hoend FrHd eBroRP pH %‘DDJ} DO ?

Options :
6.2

Question Number : 4 Question Id : 8321473704 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What is the commercial propagation method of Mulberry?

553&1236 S oo areday EDeddo SH) DEE Qe ?

Options :

Patch budding

3‘055 2860h
1. % ©
Trench layering
SPENM0E DBI0
2. %
Seeds
QST
3. %
Stem cuttings
soto 5800en
4.+

Question Number : 5 Question Id : 8321473705 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Mulberry mosaic disease 1s transmitted by

é:e.:&f} AeTPoNs 56 5% 33{};} 2ol ?

Options :
Snails
Sesen

1, % i
Nematodes
570655

2. % h

3. %

: MCQ Option Shuffling : No



Mealy bug

00 aof

Aphid vectors

DG TPSTOSTeD
4.

Question Number : 6 Question Id : 8321473706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Farm yard manure recommended per hectare of mulberry per year 1s

&8 H038)°08 a8 Bacgensy a’m}a)é% rDodads HHHe 25D
(3°8) o8B Eeiieg6) D0eea0 Noes?

Options:
4 tonnes

4 érdnen
1.% St

8 tonnes

8 éxdonen
2. % =

20 tonnes

20 e en
3. ==

16 tonnes

16 éné:&&u
4, %

Question Number : 7 Question Id : 8321473707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Yield of VI mulberry variety per hectare per year is
V1 e 880 B8 g Brbad Jod?

Options :
25.000 -30,000 Kgs
25.000 -30.000 &&%»

15.000 -20,000 Kgs
15.000 -20.000 &S%ex

45,000- 55,000 Kgs
45.000- 55.000 &%

60,000 - 70,000 Kgs

60.000 - 70,000 &%
4.

Question Number : 8 Question Id : 8321473708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
How many acres are equal to one hectare?
28 PE @08 ) JEToen?

Options :

2.5 acres

2.5 JBoren
1.9

5 acres

5 aBoren
2. %

3. %



3 acres

3 Eoren
6 acres
6 BTreD
4. %

Question Number : 9 Question Id : 8321473709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What are the 2 parts of the pollen sac?
BT FE (o Boaren) BwE), Bokd grrren DWE3?

Options:
Spongy and parenchyma cells
Jyoe Lodakw ) Bo8esero0

1.%
Outer wall and central tissue
W'&:ﬁéé&'ﬁﬂ S0BC é::qﬁeg Beaee0
2. ¢
Sclerenchyma and parenchyma cells
- Cﬁe]ééeaﬁt}o velovsy @Qﬁjémwmﬂﬂ
Outer wall and parenchyma cells
. ePsI°5 B W0 S0BAID ) toSeere0
4, s

Question Number : 10 Question Id : 8321473710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Most suitable soil type for mulberry 1s

Hoend FrH%H wEiod wHEreS Jo 880 2?7



Options :

Sandy loamy Soil

| % 3:088° &r8S a0 Jo
Black Soil
o Jo
2. 7
Loamy Soil
2,05 I
3.¢
Black loamy Soil
e BKé Jo
4. %

Question Number : 11 Question Id : 8321473711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Mulberry fruit i1s rich in
553&:55 Hotoe® QEN DM D Gotnod?

Options :
Vitamin B
Derdvx B

1, %

Vitamin C

- Dérdom C

Vitamin D
Déasoa D

Vitamin A

L% QDS A



Question Number : 12 Question Id : 8321473712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Young anther consists of
S50 E5B0S° D &otnod?

Options :

Meristematic cells

gTess e 0

1.4
Parenchyma
30 Eo8esere0
2. %
Pores
So|gren
3. %
Seeds
SBTeeD
4.% =

Question Number : 13 Question Id : 8321473713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Meristematic cells in young anther are surrounded by

G0S woiBos® QgTedg SeaePerd) zﬁaé%:meé SoRb ?

Options :
Pores
So(gren
1. %



Parenchyma tissue

é}écﬁnémaﬂﬂo

Meristematic tissue

JeTeess Ee9eP00

3. %
Epidermis
ePTer 5t 50
4.9 & e

Question Number : 14 Question Id : 8321473714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
G2 mulberry variety 1s recommended for
G2 Soen8 BseQ) B 2y Breto?

Options :
Adult silkworms
Ei}ﬁg HAD™D éé&;‘{g}iﬁ)ﬁ:&n

1.%
Young-age silkworms
D) DD DEYBorven
2.¥ s -
Pupa
oo o
3.0 PO
Moth
4% S

Question Number : 15 Question Id : 8321473715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

The arrangement of the nucler in embryo sac of mulberry is
e 20%E ¥o ErBo(BE0s® ©dE dee dotnod?

Options :

3+2+3
1.¢

2+3+3
2. %

3+3+2
3. %

2+4+2
4, %

Question Number : 16 Question Id : 8321473716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Mulberry, functional megaspore develops into
@@QB@B Bairgs D8RS O ©DHE Boheod?
= =W}

Options :
Endosperm
Slel=vetnTals

%)

1. %

Pollen sac
. Soeristso

Embryo sac

2048580

3.¢

Ovule
Dlelnle)



Question Number : 17 Question Id : 8321473717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which branch of Botany deals with the development of improved plant varieties?
HERS F¥), e @@éﬁj@ 55, Lﬁgé@@@ P 20?

Options :
Plant Physiology
= - s
JnE)© 368 cﬁzﬁé@@o

1.%
Plant Breeding
- v"_,u w
Q& (DEdIB°R0
2. ¢
Plant Biochemistry
S0 BHEIDS Ko
3. % =
Plant Pathology
. 4
' ﬁ:oéﬁe_n @5:5 TR0

Question Number : 18 Question Id : 8321473718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following chemicals induces polyploidy in plants?

BoBPBE® & Brahio Fok)s® wrBEEs (HEg08?

Options :
Formalin

@‘*6@@5

1. %



Colchicine

S v ?@J?@E
Ethanol

- NHTS
NAA

4 % i

Question Number : 19 Question Id : 8321473719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Haploid plantlets can be produced by
DERBE FwE)D) D DEOS® &B)B TAHHE)?
@ o o=

Options:
Pollen culture

HoerCen HBHo
1.¢ )

Cotyledon culture

&S D8P0
2. % i
Embryo culture
O DB
3. % N
Mernistem culture
gTPa3y Eeoere) éééa
4. %

Question Number : 20 Question Id : 8321473720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Crosses between the plants of the same variety are called
2.3 %0 oo ks 267 088D DotrE?

Options :
Interspecific
eaﬂ'ééoétﬁ QDoBB0

1. %

Intervarietal
eaﬁééoéﬁﬁ 880

2. %

Intravarietal
@O&Y O5cen

3. ¢

Intergeneric

HoBoed HDo¥eso

Question Number : 21 Question Id : 8321473721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Hybridisation process performed between more than two plants 1s known as

Botb S0l )3 ) 0t 2307 080888 (HIB0DKD Nedotrt?

Options :
Single cross
D8 HoB8eso
1. %
Multiple cross

2)oT0 08830



Dihybrid cross

& H088 HoBdso

Las

Intergeneric cross
NOTP0SY HoBBes0

Question Number : 22 Question Id : 8321473722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Hidden hunger is a term used to describe
PG Jroib el dne?

Options :

Plants showing no symptoms even when nutrient content 1s not sufficient

Pigeen SES™ 68188 D oFeres HPSd e
1.¢

Plants require more water

BOISHISIY a-é:&a’: HB wsbdo

2. %
Plants showing symptoms even when nutrients are sufficient
SEsren )BT ¢l oFeren 003 Iw)en

3. @ e

Plants showing linear growth
$8E DBDSe S0 SoF) en

Question Number : 23 Question Id : 8321473723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Causative organism of Powdery mildew is
e Brben (B0 Shewes) 568 B £D 26?2



Options :

Cercospora moricola

28658 o Irosier
1. % =
Cerotelium fici
. AG°BOSHo 2D
Phyllactinia corylea
2805 §°60 05
3. ¢ .
Rhizoctonia bataticola
3EPEE DO erersier
4. % =

Question Number : 24 Question Id : 8321473724 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the causal organism for mulberry root rot disease?

553&1&‘3,5 3% én*ﬁ}@ 568 5880 207?

Options :
Cercospora moricola
85,00 08 ee
1. %
Phyllactinia corylea
2805 80005
2. % =
Lasiodiplodia theobromae
ePRBEDEE S HB(ETD
3.



Cerotelium fici
28580 B

Question Number : 25 Question Id : 8321473725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a common soil borne disease affecting mulberry?
Sob PNAON @@553 Rerado 38 Foedes resily sl B?

Options :
Leaf Spot
. S50 éaz‘.ﬁljﬂ :T.F'é&)
Powdery Mildew
eoee3 BDew
2. %
Root Knot
3% Koen &5
3.v
Leaf Blight
. e% 0L ﬁﬂé&:

Question Number : 26 Question Id : 8321473726 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which disease 1s also called “Shot hole™ disease?
"5 S Qe ey b 56 0 ?

Options :
1. %



Powdery mildew

207022 BIIeD
Blight
a2 ale)

2. %
Leaf spot
@%He oden

3.¢ o
Root rot
3&3&3&3

4, %

Question Number : 27 Question Id : 8321473727 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Stem canker, cutting rot, and collar rot are examples of which type of diseases?

080 @ 31en, SP0t0 éa%ﬁqg 5?5@, VN éJ%ﬁJQ 3?5&3 ePoE) agtﬁm o 8508
Bothaean?

Options:
Folhiar diseases

e abgcﬁjan

1, %
Soil borne diseases
& Teo° ZOR aﬁécﬁzw
2. =
Viral diseases
lelo] S5 &oen
3.8 =



Bactenal diseases

E.Féé@@v aﬁéiﬁs&:}

Question Number : 28 Question Id : 8321473728 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is the scientific name for the Bihar hairy caterpillar?
25586 3rand 5600)06% HCH 0 ANE?

Options:
Thrips tabaci
B eer

1. %
Phenacoccus cevalliae

- PSSR DTS
Henacoccus solenopsis
PSSR BTN)R

3. %
Spilosoma obliqua
NSRS eusee

4.+ % SR

Question Number : 29 Question Id : 8321473729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is a sucking pest of mulberry?
Bod TOS* {13@9}565 50 ﬁ::ém\ DB 6?

Options :
1. %



Leaf Webber
IS SN @@ 6)e5]ab!

Bihar hairy caterpillar

8585 3eowd 8¢:0y06
2. %

Pink mealy bug
208 &d of

3.¥

Leaf roller

4 % 85 s YLD

Question Number : 30 Question Id : 8321473730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What i1s the scientific name of the mulberry thrips?
53@3}565 oY HBID %ﬁécﬁj P00 aWe3?

Options :
Maconellicoccus hirsutus

SrEIPEER 2oyl

1. %
Paracoccus marginatus
. oSSR aﬁ:vgéeﬁ
2.
Pseudodendrothrips mori
BERoE® (B8 370
3.



Diaphania pulverulenta

BCSAET HeydBSor

Question Number : 31 Question Id : 8321473731 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Mulberry dwarf disease 1s caused by

5/33@5:}6655 CE“&E{;, 56 5°88 2D HW?

Options :
Mycoplasma

1.4
Virus

. B8
Fungus

L % BO0(EE
Bacteria
e EB05e

4, ® o

Question Number : 32 Question Id : 8321473732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fungicide used in controlling fungal foliar diseases in mulberry 1s
@@56 % 80o( TS0 AckoloH0tod diidirRos Do KHoieee Q6?

Options :
Bavistin (Carbendazim)

- w&)@ﬁ (S°3yomPED)



Furadon

, % DT
Glycel
fRé

3.% =
2,4D

4. %

Question Number : 33 Question Id : 8321473733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The respiratory organs of silkworm Bombyx mori are
ePod)Ey Frd B TIHEE wSaharen dE?

Options :
Gills
0yen
1. %
Tracheae
FOLOTPEeeD
2.¢
Integument
&2250
3. %

Silk Gland
éé%:: (gfela)

Question Number : 34 Question Id : 8321473734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
Mouth parts in silkworms are
HeDHBIOG° S°B grrren

Options:
Prognathus
ST\ B0

1.% e
Hypognathus
P R

2. ¥
Ectognatha
D& e

3% 9 <
Opisthognathus
BT g LATATY

4, % =

Question Number : 35 Question Id : 8321473735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Number of pairs of spiracles (respiratory openings) in silkworm Bombyx mori are
f o) 0% " .
&roflf) Ar06° X)) e 4 Bolgre R)o°56)) totran?

Options :
Seven pairs
7 e388e0

Nine pairs

O 23881
2.

3. %



Eight pairs

8 eaésen

Three pairs
3 e3gden

Question Number : 36 Question Id : 8321473736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Specific gravity of the HCL for hot acid treatment of egg  at 46.5°C 1s
46.5°C GRS 5 D 1086 5B diedE 088) B0 ad@ehod HCI @¥) D63

oo [Triiko FOE Jod?

Options :

1.072
1.4

, LD

L1

4. %

Question Number : 37 Question Id : 8321473737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Number of ovarioles in Bombyx mori moth

ar0d)8) 08 Sp&ESE worrdcire Loy Do&?

Options:
3

1. %



Question Number : 38 Question Id : 8321473738 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Cellular silkworm rearing 1s done 1n the following seed organization units
BoB o DES Cﬁ)ﬁméﬂg@ﬁ éé&a"@@ﬁa@éﬁ ?0&3505@5 2058 Arbo8t R0HTH?

Options :
P3 Station
o B RS

P2 Station
p2 %&%

2. %
F1 Production
Fl c’:séu]e‘_%
3, %
Seed area
DB (Frodo
4. % &=

Question Number : 39 Question Id : 8321473739 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Expand DFL

DFL Gio%) 78 850 Hé3?



Options :

Disease Free Laying

56 Be°d Mot
1.4
Dumping of Floss
FRD HAAHEo
2.% 7
Disease First Level
56 FontsEs JeoD
3. % .
Disposal of First instar Larvae
AR B8 oroe EoNoy)
4. %

Question Number : 40 Question Id : 8321473740 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Pairing duration of male and female silk moths is
DR O & D FrE© KOG H5HH Jod?

Options:
24 hours
24 noéren
1. %

10—-12 hours

10—12 Rodren
2. %

60-70 hours

6070 Hnodren
3. %

4.+



3—4 hours
3—4 Koéoen

Question Number : 41 Question Id : 8321473741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Renditta means
BD&%J}U ©0& AE?

Options :
Quantity of cocoons required/kg of silk production
] 85° ﬁéé: &5r58 ORIBR ﬁ%}?’iﬂ?’g DOSrea0

1.4

Quality of cocoons
DEDNTPEY Teag e
& 2 2)

2. %
Silk fibre strength
DEDTPB0 VL0

3. ® h]
Silk fibroin

4. % ol

Question Number : 42 Question Id : 8321473742 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which type of Croissure 1s maintained in multi end reeling machine?
£8208 690R ahoEos® O BB (sraneb e5@rRoSRoER?

Options :
Chambon type
Troere B80



Tavellette type

ER38E BEo
2.

Adhesive type
5 x 08803 8%0

Integrated type

$Bols B8

Question Number : 43 Question Id : 8321473743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which silk 1s called Ahimsa silk?
iy ééé: ‘@800 éé%: e Sedatiehod?

Options :
En silk
20 Hew
1.4

Muga silk

30T e
2. % =
Tasar silk
S35 Dew
3, % =

Spider silk
LD Héw



Question Number : 44 Question Id : 8321473744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The proteins present 1n silk are

He6® ol (e De?

Options :

Sericin & Fibroin

., ORI & 21EawS
Keratin & Collagen
Sordln & BPerEQ

2. %
Sericin & Keratin
2030 & Borde
3. %
Fibroin & Myocin
2008 & HARHR
4, %

Question Number : 45 Question Id : 8321473745 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The purpose of cocoon stifling 1s to

DePITY PN ot SR ?

Options :
Loosen the silk thread
ﬁé.é: QTeeD éiﬁamﬁ%&tﬁo 5°5%

Remove water

HBY SohoSto 8%



Remove sericin

20205 &oRodto B85

Kill pupae

, Jesared Podto §8%
4. ¥

Question Number : 46 Question Id : 8321473746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Noil yarn 1s
Trond 50y @08 AE?

Options :
By product of spun silk
Q) VDY) CE) 6 688

1.¢
By product of twisting
aRoh GBwd) 6d G6& S
2.% WA =t
By product of reeling
0OoN ) 6 &d)d
3. %
By product of weaving
DDOR @) 6D 6D
4. % =

Question Number : 47 Question Id : 8321473747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



International Sericulture Commission 1s located in
WOBTECH 1OZNE EDNS KK 6od?

Options:
Mumbai

| w QDDOROD

New Delhi
2. % S &2

Kolkata
,x S8

Bangalore
4 BoNERS

Question Number : 48 Question Id : 8321473748 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Uzi maggots undergo how many instars?
6 eSS’ AR Bden Gotron?

Options :
3 mstars
- 3 Sden

2 instars

2 &den

5 instars

5 B8en



4 instars

4 Bden

Question Number : 49 Question Id : 8321473749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Pick the correct statement
Bod aeB&P KBS DSBED DB?
Options :
India 1s the second largest producer of silk
B8 &L Cod Hip 688 U Bk

1.¢
India 1s the fifth largest producer of silk
i} vlel ] éé%} t%éujeg@s 8083 %ﬁ?’aoeﬁﬁ Gob
2.
India 1s the first largest producer of silk
P58 HED G5B slaky FS0S° sod
3. % S @
India 1s not a silk producing country
} Eatel ] é%} &8 Do G¥o =%
4.

Question Number : 50 Question Id : 8321473750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Name the scientist who suggested the mother moth examination to prevent pebrine disease
in silkworm Bombyx mori

pof) 3r06° HER P50 JerBodotsid 8 $r6i S0Zomer) Hmli Al
PEDE A6?

Options:
1. ®



Albert Einstein
@@QE DRHD
BJ 22

Charles Darwin

P00 GP0IR

Jagadish Chandra Bose
2508 SoBE%R

Lows Pasteur

TPQNR ﬁﬁé&g
4. &

Question Number : 51 Question Id : 8321473751 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Silk 1s popularly known as the of Textiles all over the world
D B0t apgRone Sipe GIng) Ik elalela
£ ] & —_— 0
Options :
Queen
o T
King
2. n
Master
3730
3. ® el
Crown
8660

4, %



Question Number : 52 Question Id : 8321473752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Number of silkworms per 100 DFLs 1s
100 £QHISE® Ay HepHBorven sotran?

Options :
10,000 £ 500

1. %

- 50,000 + 500
20,000 £ 500

25,000 £ 500
4. %

Question Number : 53 Question Id : 8321473753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The apex body for sericulture and the silk industry in India is

PES050S" 2056 $HBk 9t HOF0E KowoBok B[ Koy 67

3
Options :
National Silk Board
SHSS 5, Lﬁag

1. %

Sericulture Development Board

. 2BZend @ﬁ)é&@ 2”)5§

National Sericulture Board

JRSS 2OEeN0 :55§



Central Silk Board
oGS ), ﬁf’?

Question Number : 54 Question Id : 8321473754 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Premier silk producing state in India 1s
ePESEE0S" (B0gporr ﬁ% =LAL Bsn oPho DB?
= =]

Options :
Kerala
. S06¥

Tamil Nadu
SSa0E et

2. %
Karnataka
soeeos

EQ

Gujarat

w Hesors
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Black boxing during incubation of silkworm eggs 1s to

EDIOID 108 OR $chod® g8 er8)0N Aot BP?

Options :
Get uniform hatching

v SSeSore Hk Hreso 8%o



Stop hatching
K0t HrBHoTe 8ok

2. %
Hatch 1n instalments
B8 O Hiveto %o
3. %
Hatch after 24 hours
L 24 Koére écﬁgé Hedo 8%%o
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Silkworm (larval stage) has pairs of thoracic legs
é&g“@iﬁ:ﬁjé& A e o8 5°%H Gotran?

Options:
Five pairs
g0t exden
1. %

Two pairs

S0 exdben
2. %

Four pairs

e e3¢den
3. %

Three pairs
4o SO aBeD
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What 1s the main physical disinfectant?
TR (2958 i’i}ig@;’a (B0K05EEE Ef:.lcg@- d0E3?

Options :
Cool water
383 D%
1. % i
Sunlight
S v ia::véésﬁoe‘i%
Wind
me
3. %
Rain
D80
4. % o,
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Number of moulting in silkworm Bombyx mort 1s

53¢ VD erodlS) 30" A ) ABYBS0 ethirhehos?

Options :
4 moults

455,
1.¢ o
10 moults
10 53PS
&)
2. %

2 moults

2 &S
€)



6 moults
6 S
)
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Double cocoon 1s spun by
2308 MPED & ) mem Qorven 8OV Kt eepBotran?

Options :
Two silkworms

SO D DHBoirven
1.4 €

10 silkworms
10 ﬁ% oren

2 pairs of silkworms

SOt exdie) DE HBorven
3. % =

More than five silkworms
B0CHE P B3ED HBorven

4, % Z
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Globally the largest consumer of silk 1s
BHoSos® PR DTS DAGPAOET B0 DO?

Options :
1.4



India

PSSR0
China
Japan

- 235700
Thailand
eonerod

4, %
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Which country stands out as the largest producer of silk globally?
Bdood® &y D0 6818 30 B¥o AB?

Options:
France

@)

1. %

Korea
Sielovri

China

D°
3.¢

Thailand

ronerod
4, %
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Silkworms are fond of dim light of luxes
ﬁ%@iﬁ)ﬁ:@ Q) LX) HIEPOI P08 aﬁgﬁé@ﬁm?

Options :
40-50 luxes
40-50 @E{J&m
1, ®

50-60 luxes

50-60 @E{J&m
2. %

I to 10 luxes

1to10 EJED?‘,E‘O

15 to 30 luxes
15 to 30 Eﬁgn}’&}i
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Full form of CRC in silkworm rearing 1s
ééﬁg}”’@iﬁ:ﬁaﬂ 20%5%08° CRC Do), J°8 25 DWB?

Options :
Cocoon Research Centre

B&rS H68%87° éo@éo

Central Research Centre
So($S H68%=e oo



Chawki Rearing Centre
=8 20d¥ So(o

Cocoon Reeling Centre

g5 600h So%0
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What 1s Voltinism?
‘Saeg_a)ﬁeao ©0& DWE?

Options:

Number of generations in a year

2.8 3058 \80&® dore :‘iioa:g
1.4 e

Number of moultings in the larval stage of Bombyx mori
a’:ﬁé%a“’ogjtﬁaﬁ:; T 8855 28R 5365&{5:1%1 ﬁoa:rs

Two generations 1n a year

- ﬁoééﬁjﬁﬂg}é So&) $oeren

Number of moultings in a year

B038\80&® 226n 85 Sore Ef'aoazé
4. % o “
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Chawki silkworms refer to
T8 HepDBrben @0l DVE3?
Options :
1 and 2™ instar silkworms

S&E 0BATW Cok B DéY JLoIben

1.4

d - 5
Only 2" instar silkworms

2500 Bokd &8 ééé: HBoiven

2. %
5" instar silkworms
- 0838 858 B’J%J“S’.gﬁﬁsﬁam
A" instar silkworms
Teenine &8 é@f@&?ﬁ&n
4, %
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What 1s ant well?
“05°0¢5 3S” @08 DWE?
Options:

[t 1s a device to prevent ants during silkworm rearing

v ;'Jé._g?’.g)daﬁaﬂ} 205806 Hded b0tk ed@BrA0D H6L%0

It 1s the seat of rearing rack
gjﬁﬁ?@fﬁjﬁbﬂiﬁj 203 E’Eg@o

Tray used to rear silkworm
éé%:@iﬁsﬁ:@é:} 203 éé;ugm



Type of a mountage

| o8 558 Fols
4.
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What 1s the purpose of Ante room?
08 S RwE) adBriio HE?

Options :
To act as disinfection room

L BRI KO IR TRHZH0b

A room to culture Uz fly
& 2 0B K6

2. %
To act as a barrier to the entry of Uzi fly
53y 3 3
ﬂwg D3 o) WEIBS NG
3. %
A room for preservation of mulberry leaf
. é}@mﬂé BB Jgeaowd HE
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Silkworm Bombyx mori belongs to order
é%}@tﬁ:ﬁa 2°08)8) 38 & E;‘aéEéJ 20658 ?

Options:
1. ®



Hemiptera

3P DATP
L]
Diptera
faFsloy

2.% ®
Trichoptera
(Eseaoe

3.8 =W
Lepidoptera
822

4.9 =
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How many stages are there in the life cycle of a silkworm?
DEpHBIH BDSSBos® Q) Bden gotron?

Options :

1w 3

6
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Study of insects 1s known as
&¢rsre ©G5aDT°A) Q0T ?

Options :
Biology
£53°%0

1. % =

Entomology

exszego
2.¥

Microbiology

S 8 a80

3. % =
Zoology
230803°90

4. % =
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Which state produces muga silk 1n India?
ePESREoS® Lo é%}éa ﬂié&j@ﬁ}% U"B:&D 6 ?

Options :
Andhra Pradesh
- So|B(HTE

Tamil Nadu
B0 et

2. %
Kerala

88



Assam

@Sﬁf&o
4,
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Scientific name of muga silkworm 1s
Soore é@@é}ﬁ}é -E'U%Cﬁb P00 D ?

Options :

Bombyx mori

'ﬂ“D&g(J 26

1, %
Beauveria bassiana

Lo OBBOTR erRaire
Antherarea proylei
©ITOAIP (P

3. ® G =
Antheraea assamensis
O OTVDHN®

a.v @ W
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Core protein in silk filament 1s
$600°806%) HoggRod EES De3?
Options :
Fibroin

- 2 ows



Keratin
, & SUES
Actin
OV
3. % o

Sericin

Fo 2008
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Name the disease of silkworm that can be transmtted from parents to offspring
Qto(ho ol SLTE ETS T3 303 Sepibe Ry Aebé?

Options:

Viral disease

- S8S a56
Pebrine disease
- RIS 5°5&
Fungal disease
7 ‘;:-'U'ﬁ
L, 8O0 =0
Bactenal disease
ePE805HS 56
4, % =
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The excretory organs of the silkworm are called

éég@iﬁarﬁéﬁ@ DORVB OXADTOD D0ErLD?

Options :
Digestive System
25 NS
B 2 @

1. %
Tracheae
BPIIT°EOeD
2. %
Malpighian tubules
Lo S5DYBADR €5y O)
Integument
358)0
4. % ¢
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Silkworm Bombyx mori completes its life cycle in
560 GG wrodlf) Frd SR FrOTHTI8 AR Beren Gibihod?

Options :
10—15 days
10-15 &%en
15-24 days

, & 15-24 e



75-95 days
75-95 &%eren

45-55 days

45-5
4. &

h

e’eD
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Pebrine disease in silkworm Bombyx mori 1s caused by
HepdrD erodB) Fr0S° VS 508 SPBD E DG?

Options :

Morator virus

o 005 36T
Streptococcus bombycis

E‘g@ﬁs%fa SLoBDD
&

Nosema Bombycis Nageli

S £°0320 RO
3.¢

Serratia marcescens
Felerslovhic ;’ma&?\:ﬁg
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Causative organism of white muscardine disease in silkworm 1s
éaﬂ;}:‘@tﬁ:ﬁ:@ﬁ BQTees? ééé: (S&6 miﬁﬁggﬁ) NARSgele Dabe3?

Options :

Borrelina virus

SBOT® I8
1, %
Serratia marscesence
Falerelovh 5’:1:“6?3?353
2. %
Beauveria bassiana
D3OS erasrae
3. v
Streptococcus sps
2SeER ePeen
4 % W=VED
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Bulk of the commercial silk produced in the world comes from this variety of silkworm
ioSoe? Fedesgdor 688 @cﬁaé 96 2 850 Spsyhiben $od QI S06?

Options :

Mulberry silkworm
é}&:ﬁjé: DI IDeD
1.¢ =

Tasar silkworm

SF6 DepHdardes
2. %



Muga silkworm
Qore é@@ﬁﬁ:ﬁ:@

Er silkworm

2B HepHBoihen
4. % ©
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Denier of silk filament indicates
Hepm80S° GAGHE BIR Erdikyod ?

Options:
Weight of the silk filament
éé.:%awﬂtﬁo 20

1.%
Length of the silk filament
DEPTRE0 SRS

2.% ¥
Thickness of the silk filament
DENTPBO DOoLo

3.
Beauty of the silk filament
DEDTPB0 @OHO

4% @
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ERR 1n silkworm rearing represents
HeHHIH DoHES® ERR 930 G Krdipod?

Options :
Effective Rate of Rearing
(22g7°3350 S0 DODS Sew
1.4
Eating of Mulberry Leaves
363@3]5 80D 8 F080
2. % .
Effective Role of Reeling
SYolelalon 8387255508308 (&
3. %
Effective Rate of Reeling
6D0R Bo¥) HEHEI Tew
4. ®
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Which of the following chemicals induces polyploidy 1n plants?
(808 8rchg® DB I airoRBESD @OW06?

Options :
Formalin

xR0
Colchicine
9
S v é@;,m%

3. %



Ethanol

JPTeS
NAA
DRV

4. %
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Haploid plantlets can be produced by
fi)é‘%:e‘i%é S0F) 00 o &cge‘i% ToIo° G8Y8 3{:%055{5%?

Options :
Pollen culture

HoeriBed HBdo
1.¢ "

Cotyledon culture

Dests¥ H8H0
2. % "
Embryo culture
208 BK0
3. % i
Meristem culture
- Qaﬁﬁééw&mﬁ: a’agéa
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Pierced cocoons are used to produce

Sepi> 0B B HepreE 8B B SrbE aH@RARE



Options :

Spun silk

8y dS)

1.v o
Geecha silk

ADe 5’35&

Dupion silk
50D 1S,

Raw silk
S0é ?J&QT
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Which of the following fibers 1s obtained from an animal?

Bod a8S® D8 20&HHe K08 FroletE0d?

Options:
Jute
237065

1. %

Silk
DD

2. °
Nylon
[P

3.% %=



Cotton

58
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Central Muga Er1 Research and Training Institute (CMER&TT) 18 located 1n
Ropd S 20 $08°%H £t 8 Koif (CMERTI) 8% $08?

Options :
Andhra Pradesh
so|B(HEE

1. %

Arunachal Pradesh
OB S0RE

Assam

OT\O
3. ¢ e

Kerala
25¢

Question Number : 87 Question Id : 8321473787 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[n which phase the chromosomes are arranged along the equator in a cell?

D §¥° Eﬁﬁégémn 8630 éntééeﬁ‘s 560 05088 dotran?

Options:

Prophase
5

&

1. %



Metaphase

oeFDE
2.9

Anaphase

OTONE

Telophase

B5DE

4, %
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Which country 1s producing all the four commercial silks in the world?
(B50506° apcdess (Ereriisd KOAK TPenid S50 2D 6818 30 Bd0 06?

Options :

India
v PEERE0
Japan
- 235700

Pakistan
L, x T8

Brazil
4, % @3@5
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How many cells are formed at the end of meiosis-1?
SasreRR-I éwﬁﬁ:énu‘ﬁo)at‘fo ) Begren B EEean?
Options :
4 haploid cells
4 Qé?’&)}%é Segeen

4 diploid cells
4 Céﬁcfo?g@ Segeen

2 diploid cells

2 Bedhaé Bezeen
3. % -

2 haploid cells

2 AB1BE Sezeew
4.9 @
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Crossing over takes place during

Slelle AN ovhle) &)éﬁ;@é} 2301 0eo b ?

Options :
Pachytene
=
o 885
Zygotene
= |
- BRSES
Leptotene
BREES
3. ® ol



Diplotene
&@'555

4, %
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Spermatogenesis 1s the phenomenon of development of which type of gametes?

DR HIHEB (H(8%6° Deseer éej@ Jothseon?

Options :
Male gametes
HHA DesBezoen
1.4

Both Male and Female gametes
HER Hooasw § Desteren

2. %

Female gametes

2 Deseaoen
3%

Formation of Zygote
4 % OO0 Deso

Question Number : 92 Question Id : 8321473792 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During embryo development, gastrulation takes place at
ﬁjomﬁéﬁw@éﬁ PRBRS DB APt etorHEod?
=4

Options :
1.4



24 hours
24 Koéoen

32 hours

32 Btoéen
2. %

48 hours

o 48 Noéen

34 hours
54 Koéoen
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The meiotic division takes place in

EODEVee Dgiessd & 23rHE0d

Options :
Mernistematic cells

EDQJ'DB&FS Sezoen

1, %
Conductive cells
SPeE Begren

2. %
Reproductive cells
a’g}aﬁfﬁaé\@ Eegoen

3. ¢ =

Vegetative cells

aﬁ@:ﬁa Segeen

4. %
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What 1s the diploid chromosome number in mulberry?
563@5565 &30 ?g@é L?EJJ&EEJ K085 J0&?

Options :

28 chromosomes

28 (8%R0estSmen
1. ¢

42 chromosomes

. 4 EbRoesimen

2.

12 chromosomes

12 (8%RoefSmen
3. %

7 chromosomes

7 85 ReesPSmen
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Cleavage type in silkworm during embryonic development 1s
éé,g"@daria ?\Joaﬂ@aﬁe‘j@ée DeFesd BEO Aed?

Options :
Meroblastic discoidal cleavage

EQSE':@%E I LW al RSN

1.4



Rotational cleavage

FEAIS Defesd

Radial cleavage

BRcHS Defesid
3. %
Spiral cleavage
VYO a3
4. % =
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Which of the following determines the sex of the offspring in male heterogametic
conditions?

(Bob 6 20 o Sepiytory ZBETPHEE B’ e Do) Aaniyon?

Options :
E
[gb)

=]
=

ogh

Sperm

éf)iﬁééaao
2.V

Both egg and sperm

{"*btéo Evslalovey) g)iﬁééﬁ@ﬁ So&

It cannot be determined

28 BaVO0IBID
4, % o
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The chromosomal basis of sex determination was discovered by which of the following
scientist?

Borf I 0w0GotlS (EArE DS erpol) ST PEIE 2567

Options :
Stevens
L= E
éﬁmﬁj

Grey

@

Henking
Q00

Wilson

3}@(35
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An exception to Mendel’s law 1s
oS Jr@e8 udSFBon0s) e ?

Options :
Linkage
SESTN

1.+



Independent assortment

Sizlell éééfﬁe&

Purity of gametes
SoGrK Dere Sy

Dominance

@@Eﬁééo
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The smallest unit of genetic material which produces a phenotypic effect on mutation 1
810860 Qg )R8 (Herar) Hn: g0 ©8 1) ©0d0 b’

Options :
Gene

&0

Muton

é}ﬁéwﬁ
2. ¥

Nucleic acid

Recon

4 x OF°Q
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What is inbreeding?
©0S8(HedK0 o8 DHE?

Options :

Mating of closely related species
3&% Bomodo t%écl e HDOGINOo

1.4
Mating of unrelated species
Jo20&0 89 erde Hod@wio
2. %
Mating of clones
£%5 Bo&@riso
3. %

Mating of different breeds
53563 eP&e) SOAIRHOo





